

$$10. \textcircled{\delta} . \frac{x^2-1}{x^2-x} = 1 + \frac{1}{x}$$

$$\frac{(x-1) \cdot (x+1)}{x \cdot (x-1)} = 1 + \frac{1}{x}$$

~~$$\frac{x \cdot (x-1) \cdot (x+1)}{x \cdot (x-1) \cdot (x+1)} = \frac{x \cdot (x-1) \cdot (x+1)}{x \cdot (x-1)}$$~~

$$\rightarrow x = 0$$

$$\rightarrow x-1=0 \Rightarrow x=1$$

πρέπει $x \neq 0, x \neq 1$

$$\in \mathbb{R} \setminus \{x(x-1)\}$$

~~$$\frac{x \cdot (x-1) \cdot (x+1)}{x \cdot (x-1)} = x \cdot (x-1) \cdot 1 + \frac{1}{x} \cdot (x-1) \cdot \frac{1}{x}$$~~

$$(x-1) \cdot (x+1) = x \cdot (x-1) \cdot (x-1)$$

~~dividing~~

$$(x-1) \cdot (x+1) = x^2 - x \cdot (x-1)$$

$$x^2 - 1 = x^2 - 2x + x$$

$$x^2 - 1 - x^2 + 2x - x$$

$$x-1=0$$

$$\underline{x=1}$$

Answer .

$$10. \quad \textcircled{\alpha} \cdot \frac{x+2}{x^2-4} + \frac{2}{x^2-4x+4} = 0.$$

$$\Rightarrow \cancel{\frac{x+2}{(x-2)(x+2)}} + \frac{2}{(x-2)^2} = 0$$

Περιορισμοί:

- $x-2 \neq 0 \Leftrightarrow x \neq 2$
- $x+2 \neq 0 \Leftrightarrow x \neq -2$
- $x-2 \neq 0 \Leftrightarrow x \neq 2$

$$\Rightarrow \frac{1}{(x-2)^2} + \frac{2}{(x-2)^2} = 0 \Leftrightarrow$$

~~$$\frac{x-2}{(x-2)^2} + \frac{2}{(x-2)^2} = 0$$~~

~~$$\frac{1}{(x-2)(x-2)} + \frac{2}{(x-2)^2} = 0$$~~

$$(x-2)^2 \cdot \frac{1}{(x-2)} + (x-2)^2 \cdot \frac{2}{(x-2)^2} = 0$$

$$x-2+2=0$$

$$\textcircled{x=0}$$

extra

$$\frac{15}{x-2} - \frac{4}{x+2} = \frac{5}{x^2-4}$$

$$\frac{15}{x-2} - \frac{4}{x+2} = \frac{5}{(x-2)(x+2)}$$

ορισμοί

$$\frac{\cancel{(x-2)} \cdot \cancel{(x+2)} \cdot 15}{\cancel{x-2}} - \frac{\cancel{(x-2)} \cdot \cancel{(x+2)} \cdot 4}{\cancel{x+2}} = \frac{\cancel{(x-2)} \cdot \cancel{(x+2)} \cdot 5}{\cancel{(x-2)} \cdot \cancel{(x+2)}}$$

$$\begin{aligned} x-2 &= 0 \\ \rightarrow x &= 2 \\ x+2 &= 0 \\ \Rightarrow x &= -2 \end{aligned}$$

$x \neq 2$
 $x \neq -2$

$$(x+2) \cdot 15 - (x-2) \cdot 4 = 5$$

$$15x + 30 - (4x - 8) = 5$$

$$15x + 30 - 4x + 8 = 5$$

$$11x = 5 - 8 - 30$$

$$\begin{aligned} 11x &= -33 \\ \underline{11} \quad \underline{11} \end{aligned}$$

$x = -3$

$$10. \textcircled{1} \quad 2 - \frac{x^2+7x}{x^2-1} = \frac{2x-1}{x+1} + \frac{3}{1-x}$$

$$2 - \frac{x(x+7)}{(x-1)(x+1)} = \frac{2x-1}{x+1} + \frac{3}{1-x}$$

~~$$\frac{x(x+7)}{(x-1)(x+1)} - \frac{2x-1}{x+1} + \frac{3}{x-1} = -2$$~~

~~$x(x+7)$~~

$\in \mathbb{R} \setminus \{0\} (x-1)(x+1)$

$x \neq 1$
 $x \neq -1$

$$x-1=0$$

$$x=1$$

$$x+1=0$$

$$x=-1$$

$$x(x+7) = (x-1)(2x-1) + (x+1)3 = 2(x-1)(x+1)$$

$$x^2 + 7x - (2x^2 - x - 2x + 1) + 3x + 3 = 2(x^2 - 1)$$

$$x^2 + 7x - 2x^2 + x + 2x - 1 + 3x + 3 = 2x^2 + 2$$

$$x^2 + 7x - 2x^2 + x + 2x + 3x + 2 = 1 - 3 + 2$$

$$13x = 0$$

$$x=0$$

$x=0$

extra

$$(\lambda^2 x - 2)(\lambda - 2) + \lambda x - (\lambda - 1)^2 = 2.$$

$$(\quad)(\quad)x = (\quad)(\quad) \quad \text{Expand.}$$

$$\lambda^3 x - 2\lambda^2 x - 2\lambda + 4 + \lambda x - (\lambda^2 - 2\lambda + 1) = 2$$

$$\lambda^3 x - 2\lambda^2 x + \lambda x = 2\lambda - 4 + \lambda^2 - 2\lambda + 1 + 2$$

$$(\lambda^3 - 2\lambda^2 + \lambda)x = \lambda^2 - 1.$$

$$\lambda(\lambda^2 - 2\lambda + 1)x = (\lambda - 1)(\lambda + 1)$$

$$\lambda(\lambda - 1)^2 x = (\lambda - 1)(\lambda + 1)$$

1. Av $\lambda = 0$ $\omega z c$ $0x = -1$ Answer
2. Av $\lambda = 1$ $\omega z c$ $0x = 0$ Answer
3. Av $\lambda \neq 0, \lambda \neq 1$ $\omega z c$ $\frac{\lambda(\lambda - 1)x}{\lambda(\lambda - 1)} = \frac{(\lambda - 1)(\lambda + 1)}{\lambda(\lambda - 1)}$

$$x = \frac{\lambda + 1}{\lambda}$$

$$25. \textcircled{B} \quad 8x^3 + (x-2)^3 - (3x-2)^3 = 0$$

$$8x^3 + (x-2)^3 + (2-3x)^3 = 0$$

$$(2x)^3 + (x-2)^3 + (2-3x)^3 = 0$$

$$\rightarrow 2x + x - 2 + 2 - 3x = 0$$

$0 = 0$

Δουλειά σε κόλπο.

$$3 \cdot 2x \cdot (x-2)(2-3x) = 0.$$

$$2x = 0 \quad \vee \quad x - 2 = 0 \quad \vee \quad 2 - 3x = 0$$

$$x = 0$$

$$x = 2$$

$$x = \frac{2}{3}$$

24. ① $(3x-2)^2 = (3x-2)(x-1)$

$$(3x-2)^2 - (3x-2)(x-1) = 0$$

$$(3x-2)(3x-2-x+1) = 0 \Rightarrow (3x-2)(2x-1) = 0$$

$$x = \frac{2}{3} \quad x = \frac{1}{2}$$

② $x(x-2) - (x+1)(2-x) = 0$

$$x(x-2) + (x+1)(x-2) = 0$$

$$(x-2)(x+x+1) = 0$$

$$(x-2)(2x+1) = 0$$

$$x-2=0 \quad \vee \quad 2x+1=0$$

$$x=2$$

$$x = -\frac{1}{2}$$

③ $(x+1)^2 + x^2 - 1 = 0$

$$(x+1)^2 + (x-1)(x+1) = 0$$

$$(x+1)(x+1+x-1) = 0$$

$$(x+1)2x = 0$$

$$x = -1$$

$$x = 0$$

④ $x^3 - x^2 - x + 1 = 0$

$$x^2(x-1) + (-x+1) = 0$$

$$x^2(x-1) - (x-1) = 0$$

$$(x-1)(x^2-1) = 0$$

$$x-1=0 \quad \vee \quad x^2-1=0$$

$$x=1$$

$$(x-1)(x+1) = 0$$

$$x-1=0 \quad \vee \quad x+1=0$$

$$x=1$$

$$x=-1$$

⑤ $x^3 - 7x + 6 = 0$

$$x^3 - x - 6x + 6 = 0$$

$$x(x^2-1) - 6(x-1) = 0$$

$$x(x-1)(x+1) - 6(x-1) = 0$$

$$(x-1)(x(x+1) - 6) = 0$$

$$x=1$$

$$x^2+x-6 = 0$$

$$x = -3$$

$$x = 2$$

Σ 2 181

④ α) $3x^2 + 4x + 1 = 0$

$$\Delta = b^2 - 4ac = 4^2 - 4 \cdot 3 \cdot 1 = 16 - 12 = 4$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-4 \pm \sqrt{4}}{2 \cdot 3} = \frac{-4 \pm 2}{6} = x_1 = \frac{-2}{6} \rightarrow$$
$$x_2 = \frac{-6}{6} = -1$$

⑤ $x^2 - 2x + 1 = 0$

$$\Delta = ~~b^2 - 4ac~~ b^2 - 4ac = (-2)^2 - 4 \cdot 1 \cdot 1 = 4 - 4 = 0$$

$$x = \frac{-b}{2a} = \frac{-(-2)}{2 \cdot 1} = \frac{2}{2} = 1$$

⑥ $x^2 - x + 2 = 0$

$$\Delta = ~~b^2 - 4ac~~ b^2 - 4ac = -1 - 4 \cdot 1 \cdot 2 = -9 \text{ Αδυνατη}$$

1. (B) $x^2 - 3x + 2 = 0$

$$\Delta = b^2 - 4ac (=) \Delta = 9 - 8 (=) \Delta = 1$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} (=) x_{1,2} = \frac{3 \pm 1}{2} \begin{cases} x_1 = 2 \\ x_2 = 1 \end{cases}$$

(C) $x^2 + 9 = 6x$

$$x^2 + 9 - 6x = 0 (=) (x - 3)^2 = 0$$

~~2.~~

$$\underline{\underline{x = 3}}$$

(M) $x(1 - 2x) = 1$

$$\textcircled{-2x^2 + x - 1 = 0}$$

~~$$x - 2x^2 - 1 = 0 (=)$$~~

~~$$\Delta = b^2 - 4ac (=) \Delta = (-2)^2 - 4 \cdot 1 \cdot (-1) (=) \Delta = -7$$~~

αδουρατη

$$\Delta = 4 + 4 = 8$$

$$\Delta = 1 - 4 \cdot (-2) \cdot (-1) = 1 - 8 = -7$$

Adrian

$$4. \quad (01) \quad x^2 - 2(x-1) = 2x - 1$$

$$x^2 - 2x + 2 - 2x + 1 = 0$$

$$x^2 - 4x + 3 = 0$$

$$\Delta = b^2 - 4ac = (4)^2 - 4 \cdot 1 \cdot 3 = 16 - 12 = 4$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{4 \pm 2}{2} = \begin{matrix} 3 \\ 1 \end{matrix}$$

$$(f) \quad (2x-1)^2 - 3(x-1) = 1$$

$$4x^2 - 4x + 1 - 3x + 3 - 1 = 0$$

$$4x^2 - 4x - 3x + 1 + 3 - 1 = 0$$

$$4x^2 - 7x + 3 = 0$$

$$\Delta = b^2 - 4ac = 49 - 4 \cdot 4 \cdot 3 = 49 - 48 = 1$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{7 \pm 1}{8} = \begin{matrix} 1 \\ \frac{6}{8} \end{matrix}$$

1. (1) $2x^2 - x - 1 = 0$

$a = 2$

$\Delta = (-1)^2 - 4 \cdot 2 \cdot (-1)$

$b = -1$

$\Delta = 1 + 8 = 9$

$\gamma = -1$

$x = \frac{-(-1) \pm \sqrt{9}}{2 \cdot 2} = \frac{1 \pm 3}{4}$

→ (1)
→ $(-\frac{2}{4})$

(52) $3x(2-3x) = 1$

$-9x^2 + 6x - 1 = 0$

$6x - 9x = 1$
 $6x - 9x - 1 = 0$

$\Delta = 0$

$\Delta = b^2 - 4ac \Rightarrow 9^2 - 4 \cdot 6 \cdot (-1) = 0$

~~$81 - 24 = 57$~~

$x_{1,2} = \frac{-(-9) \pm \sqrt{57}}{2 \cdot 6} = \frac{9 \pm \sqrt{57}}{12}$

→ $\frac{9 + \sqrt{57}}{12}$
→ $\frac{9 - \sqrt{57}}{12}$

$x = \frac{-6}{-18} = \frac{1}{3}$

(9) $x^2 - 3x + 4 = 0$

$\Delta = b^2 - 4ac \Rightarrow 3^2 - 4 \cdot 1 \cdot 4 = 0$

$9 - 16 = -7 < 0$ adivazado

$$4. \text{ (ε)} (x-1)^3 = x^3 - 7, (\Leftarrow)$$

$$x^3 - 2x^2 + 2x - 1 = x^3 - 7 (\Leftarrow)$$

$$\cancel{x^3} - 2x^2 + 2x - 1 - \cancel{x^3} + 7 = 0 (\Leftarrow)$$

$$-2x^2 + 2x + 6 = 0 (\Leftarrow)$$

$$\Delta = b^2 - 4ac (\Leftarrow) \Delta = 4 - 4(-2)(6) (\Leftarrow)$$

$$\Delta = 4 - 48$$

$$\Delta = -44 \text{ αδύνατη}$$

$$\text{(β)} (x-1)^2 = 3x(x-2) - 1$$

$$x^2 - 2x + 1 = 3x^2 - 6x - 1 (\Leftarrow)$$

$$\cancel{x^2} - 2x + 1 - \cancel{3x^2} + 6x + 1 = 0$$

$$-2x^2 + 4x + 2$$

$$\Delta = b^2 - 4ac (\Leftarrow) \overset{\Delta}{=} 6 - 16 (\Leftarrow) \Delta = 0$$

$$x = \frac{-b}{2a} (\Leftarrow) x = \frac{-4}{4} (\Leftarrow) x = -1$$

Επίλυση εξισώσεων 2ου βαθμού

$$\alpha x^2 + \beta x + \gamma = 0 \quad \alpha \neq 0$$

Διακρίνουσα : $\Delta = \beta^2 - 4\alpha\gamma$.

1. Αν $\Delta > 0$ τότε έχω δύο ρίζες.

$$x_{1,2} = \frac{-\beta \pm \sqrt{\Delta}}{2\alpha}$$

2. Αν $\Delta = 0$ τότε έχω μία ρίζα.

$$x = \frac{-\beta}{2\alpha}$$

3. Αν $\Delta < 0$ αδυνατεί.

2. (a) $x^2 - 81 = 0$
 $(x-9)(x+9) = 0$

$x-9=0 \quad \vee \quad x+9=0$
 $x=9 \quad \quad \quad x=-9$

(b) $x^2 - 2 = 0$
 $(x-\sqrt{2})(x+\sqrt{2}) = 0$

$x-\sqrt{2}=0 \quad \vee \quad x+\sqrt{2}=0$
 $x=\sqrt{2} \quad \quad \quad x=-\sqrt{2}$

(c) $-3x^2 + 1 = 0$
 $-(\sqrt{3}x-1)(\sqrt{3}x+1)$

$\sqrt{3}x-1=0 \quad \vee \quad \sqrt{3}x+1=0$
 $\sqrt{3}x=1 \quad \quad \quad \sqrt{3}x=-1$
 $x=\frac{1}{\sqrt{3}} \quad \quad \quad x=-\frac{1}{\sqrt{3}}$

(d) $x^2 + 3 = 0$

~~$(x-\sqrt{3})(x+\sqrt{3}) = 0$~~

~~$x-\sqrt{3}=0 \quad \vee \quad x+\sqrt{3}=0$
 $x=\sqrt{3} \quad \quad \quad x=-\sqrt{3}$~~

(e) $x^2 = 3x$

$x^2 - 3x = 0 \quad x(x-3) = 0$

~~$(x-\sqrt{3}x)(x+\sqrt{3}x) = 0$~~

~~$x-\sqrt{3}x=0$~~

~~$\sqrt{3}x=-x$~~

~~$x=-\frac{x}{\sqrt{3}}$~~

$x=0$

$x=3$

(f) $\frac{x}{4} = \frac{x^2}{2}$

$\frac{x}{4} - \frac{x^2}{2} = 0$

$x - 2x^2 = 0$

~~$(x-\sqrt{2}x)(x+\sqrt{2}x) = 0$~~

~~$x-\sqrt{2}x=0$~~

~~$-\sqrt{2}x = -x$~~

~~$-\sqrt{2} = -1$~~

~~$-\sqrt{2}$~~

$$2 - (2x-1)^2 = 7x - 2x(1-x)$$

$$2 - ((2x)^2 - 2x \cdot (-1) + 1) = 7x - 2x + 2x^2$$

$$2 - (4x^2 - 4x + 1) = 7x - 2x + 2x^2$$

$$2 - 4x^2 + 4x - 1 = 7x - 2x + 2x^2$$

$$2 - 4x^2 + 4x - 1 - 7x + 2x - 2x^2 =$$

$$-6x^2 - x - 1 = 0$$

$$\Delta = B^2 - 4ac = 1 - 4 \cdot (-6) \cdot (-1) = 1 + 24 = 25$$

$$x_{1,2} = \frac{-B \pm \sqrt{\Delta}}{2 \cdot a} = \frac{1 \pm \sqrt{25}}{2 \cdot (-6)} = \frac{1 \pm 5}{-12} \quad \sqrt{\frac{6}{-12}} = \left(\begin{array}{c} 3 \\ -6 \end{array} \right)$$

$$\begin{aligned} \sqrt{x_2} &= \frac{-1 - 5}{-12} = \frac{-6}{-12} \\ &= \frac{3}{6} \end{aligned}$$

Επορω Μαθημα

Παλι

Σα 156

- ① α γ ε
- ② α γ
- ③ α γ ε ζ
- ④ α γ ε σ ζ
- ⑪
- ⑫

Νεο

- ⑤ α γ ε.
- ⑥ α γ ε σ ζ.
- ⑦ ο ι η
- ⑬
- ⑭
- ⑳ α γ ε ζ θ
- ㉑ α.